B.A./Part-1/Gen./(1+1+1) System/ECOG-I/New/2020

B.A. General Part-l Examination, 2020

ECONOMICS

PAPER-| (Revised New Syllabus)
Time Allotted: 1 Hour Full Marks: 25
Thefiguresin the margin indicate full marks.

Candidates are required to give their answersin their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
eta-F

qHe-d

1 Answer any five questions from the following: 1x5=5
@-GFI #A5fe et Ted wies
Gl Urgac] geaswd] IR Qe —
(@) What is meant by consumer surplus?
TSGR Tge 0 & @RI ?
IOHIHT STERY F=ITel & gf3rs ?

(b) Statethe law of variable proportions.

TeAAWETR (g RIS Re Seiices 5@l MG 3 1
gRadelie U Al Seorka T |

(c) Define Giffen good.

‘Tl TR RS WIS |
T o gR¥IYT T8N |
(d) What do you mean by opportunity cost?
LIRS EEGCACIRR SN G
IR AN AT & g ?
(e) What is meant by MRS?
MRS 3eTce & @I 2
THIRTH-HTel & e ?

(f) Define complementary goods. Draw the indifference curve for such goods.
AR TR IR WS | & TF T CFGT (0o @2 (@9 2@ G (e |
URRB ] IREINT Terq | T qRgedl M ded @

I
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(g) Define Income Consumption Curve (1CC).

(h)

2. (8

(b)

3. (a

(b)

(©)

4. (a)

1065

I (o9 (@9 (ICC) Re#l wie |

3T YHRT T g T |

Draw the Demand curve and MR curves under both monopoly and perfect
competition in short run.

o1 efsraifaonEe wE ¢ areha v ol cvm Teaw T vk
@ ¢ 2ifeF BT (MR) @l (3 2@ G e |

THIIDHR 31 ol ufcRuel gduT el ART X@r A AHr= Jrarl
¥ sfd RN |

GROUP-B
etat-4

THe-9
Answer any one question
@-FW 9F5 eTHd T 7S
Gl Thac] UTTend! SR [SIer
What is law of demand?
‘Bifewt s@ 6 = ¢
ANTHT fH F=dT & 8T ?
Explain the shape of the demand curve.
Bifvl @4l (@ SR 77, ©IF i F9)
AT AT MHR ARAT THE |

What is budget line?

Jices @2 & 9

qolc @[ WdT & 8 ?

How isit constructed? Draw and explain.

@t FeIE 5109 T4 = 2 e [ 741

THHT T AT g6 ? R IR AT TR |
Why isit called price line?

@focF @9 TN @A TN 7 9

IR Hed X oo 9o ?

Distinguish among price elasticity, income elasticity and cross-price elasticity
of demand.

vifenin wiNste Efogeieel, TRe fEfogrmel ¢ sAiiie Riogwer
Ny el 41

Aed |, 3T Ard 31 AN Bgd drd #ed urefad ey |

10x1 =10

2+8=10

2+6+2=10

5+5=10
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(b) What are the determinants of price elasticity of demand?

5.

6.

7. (8 What is meant by ridge line? Show the production zone with the help of ridge

bifgwis wiere FEfeziviror Mdneefr & & ¢
AN I Arad] RGeS & & g ?

Explain that Long-run Average cost curve is derived as the envelope curve of
short-run average cost curves.

FEFAN T T @A QAT @ WLFIEA 91 G @ Envelope’ @t 2@ 3ifza
(derive) a1 24, I 17T 5411

SYBTeNT 3Fd oIRTd YT T BTelF Ad oINTd NXGThl  foThT  NaTdh!
HIAT GO TRB 91 ARAT T84 |

GROUP-C
el

AE-T

Answer any one question
@A-F 9F5 2THa Ted wis

B ThdCT UTTHT IR (S8

Discuss and illustrate with the help of suitable diagram the concepts of Price
Effect (PE), Income Effect (1E) and Substitution Effect (SE).

Toe Hrad AR ¥ 2ok (PE), 9N 2R (IE) ¢ +ffaS e[ (SE) dRetaten
AT SN F6a IR 7S
qed YT, M 99 A URRIIS ydTaeh] gRUMES  SUY<h @Il

AEIRTHT Bl X =T TN |

lines.

Tesiweas (Rl (ridge ling) I@te & @RI ¢ Sesiwead (<= MR
Tesiwead w1 (production zone) IRIT (rle

T AT 96l & 30 ? AT YWD FERIdlel ITeA &F Sasde i |

(b) Explain producer’s equilibrium with suitable diagram.

TR orad AR SR Sl (producer’ s equilibrium) T 91
UG IGIF §RT SAGHD] Ao ARAT THa |

(c) What is meant by expansion path? Explain graphically.

Tesweas eIRe @21 (Expansion path) 6 &, ©f fotaa =iy i< 341
IR g1 w1l @ g ? Afus arer THEN |

8. (a) Define utility with an example.

1065

TNIZFE TRFIE SR REE 7ie |
IeTERvrNfRd YA gRaIivd g |

10

10x1 =10

10

1+2+5+2

1+2+7

Turn Over
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(b) Distinguish between Total Utility (TU) and Marginal Utility (MU).
@G Toicalsl @ efeF Seicareem s #iee fefy a1
G SyAAar sy Hwra SuAfiramrET i THEN |

(c) Explain the relationship between TU, MU and Average Utility (AU) with the
help of suitable diagrams.
Toige f5raa AR (6 T, 2NfeT Tocaiet @ 5ie ToRia-a WP o=
RIS

SUYTh WG] FEdlel fel SUAIREl, WHAFg Iudifar sy sfiad
SUAIAIAMHTSID] FF AR T80 |
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I

UNIVERSITY OF NORTH BENGAL
B.A. General Part-l Examination, 2020

o

ECONOMICS

PAPER-1 |

Time Allotted: 1 Hour Full Marks: 25

Thefiguresin the margin indicate full marks.

GROUP-A
Reta-F

qHg-h
1 Answer any five questions from the following: 1x5=5

@A-FI A5le etaa Tex wies
$ Mgt Ueewd! SR Qe —

(@) What is National Income?
LGRS S
e T 9hl B BT ?

(b) What is Investment Multiplier?
Rfce @eiF FIE A 9
IRENEINGTR S Gl
(c) What do you mean by ‘Paradox of Thrift’?
“Paradox of Thrift” J&T® & @RI 9
FITPT RGN H9dBT & & ?

(d) What will be the value of the multiplier if the value of MPC = 1?
MPC = 1 e, RiFeie @it Nid F© 261 ¢
i TAMRY = 19Y, T[Tl A9 & T8 ?
(e) What is money?
gl 5 9
q&T WD & BT ?
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(f) Define Marginal Efficiency of Capital.
TR e wrel e @0
IoliepT AT gerar afRaTid e |
(g) Define GNP and NNP.
GNP @k NNP-9 el i@ |
gt aify gegd uRafya e |
(h) What are the two main propositions of Say’s law?
1-a7 e ik g6 &gy @79
-] 9D ggacl & URIe® & & g ?

GROUP-B
er-4
qie-Y
Answer any one question 10x1 =10
@-(F G315 T Ted ne
G ThdeT UTTend! IR fagerd

2. Write a short note on the Keynesian Consumption function. 10
FETAT (Ol SFFF 97 T2 IR Bl 7741
BDH] SYANT HeTaR BIel fCuul] Fega |

3. Estimate the value of the multiplier, when the values of MPC are 0.5, 0.8, 0.2 10
and O respectively.

2IfSF (Sl9 2eIF T 0.¢, 0.b-, 0.8 GR 0 I(F BFF W F© T(J ?
THARIGT AFES 0.5, 0.8, 0.231 0 WY Ul A HeERoT T4 |

4, Explain critically Fisher’s version of the quantity theory of money. 10
e sl #ifse oelt St 391

Haldl HIAI R‘Ic&l"ﬂdnl BHhIRB] EDBRUTD] THATATAATHD HUHT ST ‘Iﬂg q |

5. Explain the different functions of money. 10
] FIEefe S F41
qaTeh! faff=~ foharess e e |
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GROUP-C
el

AE-T

Answer any one question 10x1 =10
@-F G0 Atd Ted wie

B THdCT UTTHT IR (S8

6. (&) What isPrice index? 2+5+3
W I IS [ @R 2
I gaAdId B BT ?

(b) With the help of an example, construct a price index to measure the change in
the value of money.

TrIZgeTR AN 5 5190 S Sl T4
JETERUIH] HERIAT J&Th! AFHAl URdd- AUF T4 Hod  adbihd! (=0T

TIE |

(c) What are the problems in constructing price index number?
qrFee & & SRt 918 21 RSP S19e A0S (N 9
AR AHIH HH FHEVHET & & TARIES B ?

7. () Critically evaluate the Classical theory of employment. 5+5
SR P el ©rge Jenie F41
SRR AT G ST cHd wIHT Hedih THa |

(b) Distinguish between Classical and Keynesian views of employment.

FIFEIE @) EAPRIA e woew W Alw w9
RIS IRATI 31 el gftedvErs uiefad T8 |

8. Describe the various methods of measuring national income. 10

TR SR “ifscem [fen smmfowf i 21
g M AroeaT I faffiewar Bawd THaN |

X
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-l Examination, 2020

ECONOMICS

PAPER-I I

Time Allotted: 1 Hour Full Marks: 25

1.

Thefiguresin the margin indicate full marks.

GROUP-A
eta-F

AE-B

Answer any five questions from the following: 1x5=5
@-FI #A5fe et Ted wies
@ UrFgdeT yeaesd] SR fagerg—
(@) What is underdeveloped Economy?
e SLAIe 0o & @Rl 9
rfamRyd Jrefarawen wal & 8 ?
(b) Mention any two problems of over population in India.
CRSIE TR e wid T Trad 741
ARTH STHEIT 3ffdfgd ggacT TRAES Ieold Bl |
(c) What isLand reforms?
il FRFE 00 [ @RI 9
IA-FEIR adT & 7 ?
(d) What do you mean by Green Revolution?
e K29 w@ice & @ 9
BRA P 9=TTel & gfsro ?
(e) What are the new technology in Indian Agriculture?
OIOR PRICHCT T @& FeTce 6 @Rl 9
ARG S F31 YR & & g ?
(f) What are the sources of Agricultural finance in India?
SRS P AR Tl & [ 9
ARTHAT BN fAThT AId8s & b g ?
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(g) Givetwo reasons for the existence of mass poverty linein India.
A0S [T M- Seea 16 Sl Tead T4
ARTHT ATYH TR IGTDH] ARTTD! gl HRUES IS |

(h) Give two main reasons for the backwardness of Indian Economy.

TIROR SR SrRfeR 76 Fael Sra T
ARG STfaelTeh! UBICUTD! ggdcl P& HRUESH [aded |

GROUP-B
er-4
THe-9
Answer any one question 10x1 =10
@A-F 9F5 2THa T wis

H1 UHAc UTewd] SR (S8
2. Describe the features of underdevelopment of the Indian Economy. 10
ISR SRR SRR ([ARE e WAl 11
ARG refaasen Ifdsid gg@! faRmares adf TH9aN |

3. Explain the trends of population Growth in India. What are the policy taken by 10
the Government to control the population Growth?
wlaced TR Jfed sfoagie iEnal w91 aerel REcE aw TR 5
JE &R FCACR ?
ARTHT STAEEA] iG] Uas IRAT TR | GRGR §RT ST FRI=0re

& & AITE® TBIT MRS B ?

4. Discuss the impact of new technology in Indian Agriculture. 10

SR RS N Y& o FicETnal F41
AR PITAT TAT YRIRTHIHT JHTaaR Bhel T8 |

5. Discuss the chief features of Indian National Income. 10

SlESIERC SRS E R BN SR RC G PR S
IRAT g 3maeT 40 faRivdes IR @@l THa9 |
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GROUP-C
el

AE-T

Answer any one question
@A-F 9F5 2Ta T wis

B THdCT UTTHT IR (S8

Analyse the nature and effects of the “Green Revolution” as introduced in Indian
agriculture.

oeR wLHIfore IRE Rai aFfs ¢ T SEIH T4

ARG PYAT Y& TRUDT BRT Hidd! UHfa A wq@aewd!  [Geeiyor
‘Iﬂéﬂl

Explain the importance of Land Reforms in India. Do you agree that there was a
progress by Land reform in Indian Agriculture?

OICS B WHIER @G S 591 QW [ T 79 B WHE ©iwely T TFo
(I QAR ?

ARTHT YH-GIRDT Fecd IASIeN | & duly ARAR HIVAT YA-GIRGRT Wl
HqUeh! TR =1 RN FEHd gD ?

Write a note on the role of NABARD in providing rura credit in India.
SiCe & 39 7Rz NABARD-93 Sl Toig @3iH el (+19)
ARTHT JTHIT 0T Y& 4T Adredh] HBER TSl feuofl eRegary |

X

10x1 =10

5t5=10

5t5=10

10
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-11 Examination, 2020

ECONOMICS

PAPER-IV
Time Allotted: 1 Hour Full Marks: 25

Thefiguresin the margin indicate full marks.

GROUP-A
eta-F

AE-B

1 Answer any five questions from the following: 1x5=5

-G 2Aipls el Ted nies
@ UrFgdeT yeaesd] SR fagerg—

(&) Mention the condition of equilibrium of Perfect Competition.
5§ eforINMeIR AT I *16 Trae 41
quf gfrae il A I qarSqeld |

(b) What is “duopoly market”?
T AR PP A0 9
TGN qOIR DT & 8T ?

(c) What is*super normal profit’?
‘el JAF FICE I 9
JAfARTH FATHT D! & BT ?

(d) What is ‘monopoly’ ?
‘GIEIOA AR FICE A 2
UHIIBR TIHI B &l ?

(e) Define marginal physical product.
elifes A T el wie |
A Afd ITED! aRYTYT oiega N |

(f) Distinguish between Real wage and Money wage.

2 MGl ¢ L TG Wy AL T
IRAfAd SATar 31 {1 SATelT A1t U e |
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(g) Definetheterm “differentiated product”.
FAFIPS WA TG 7€ |
fdiqRd axg ! & B ?
(h) What is loanable fund?
YOl ©RRE PG 0 9
FORATI BIY h! B 8T 2

GROUP-B
etal-2

HHe-9
Answer any one question 10x1 =10
@-F G0 Atd Ted wie
Bl THdCT UTTEwd] IR Qg8
2. Discussthe different characteristics of Perfect Competition.
syt eferaifrenEr e @REel SitEna 71
oof sfrgeieT R frewares @@t e |

3. Explain graphically the equilibrium conditions of a monopolist.
GFEHA FRAN SRHICTR e @ifbraz A= i 791
YEIREART G TPIBRIBT AeTd! ARl IRAT THBI |

4. (a) Distinguish between gross profit and net profit.
MG I 8 N JAFE W e 41
H AHT 31 [ AT ATt urefad e |

(b) In what ways the nature of profit differs from the incomes of other factors of
production?

TN S SR SR @Fhe (eF el ywE e Siwm Qi
PWF?
HATHIDRT YR B UbRel IUGAD] A HRBEOD] FIA<T A~ §O ?

5. (8 What isrent?
el FICF T 9
T DT & BT ?
(b) Distinguish between Differential rent and Scarcity rent with examples.
HAFIFS AT @R FHO! Tl AT N —GRIZAPTE AL T4
IETERVNIST HGHR T 31 AWl o TH —ATST Uriad T |

2066 2
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7. (8

(b)

2066

GROUP-C
el

AE-T

Answer any one question
@A-F 9FH 2THa T wis

H1 U3 YTTdh! IR (I8

Explain graphically the shortrun and longrun equilibriums of a firm under
perfect competition.

o efs@fMeonEe AT 3l FeR FTFFET @R TLPE SR @b
AR I 1
RETRIFERT Yol Ui sicuateli= &1 Seiehrel™ drdeldl A Tl |

What do you mean by price discrimination?

VN SR FoT0o & @RI 9

o favg 9Pl & &8 ?

Explain how equilibrium price and quantity are determined when a monopolist
discriminates price in two markets.

GO PRI T W 2SI FE L Sy W e e e e
2, SCeTo 1

9 UHTEBRI 3 TOIRAT Jed—Td¥E A, Td o 31 URHAIGRT Fgar
) FERT 575, @rer THEN |

Explain Ricardian Theory of Rent and its drawback.
fslCeia el oy ANCEGAITR I 41
ReTed! RMeT G dHuiRies Aled ARAT Tl |

X

10x1 =10

10

2+8

10
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-11 Examination, 2020

ECONOMICS

PAPER-V
Time Allotted: 1 Hour Full Marks: 25

Thefiguresin the margin indicate full marks.

GROUP-A
eta-F

AE-B

1 Answer any five questions from the following: 1x5=5
R-FI Ai5fo 2lta7 T wies
G UrgacT yeaswd] IR (GBI
(@) What do you mean by liquidity of an asset?
N O IECe [T Q@R 9
RG] AR F=ITel & g3 ?
(b) What is bank rate?
AIFET = 9
g, <X (bank rate) Y=dT & BT ?
(c) Defineindirect taxes.
AEF P Re: 7G|
I IR BT YRATT T |
(d) What is meant by balance of payment?
@ Tge @Ie B @[ 9
HIAD] Tl A=l & ST ?
(e) Define Stagflation.
feroreifon kel nie )
DI #<id! (Stagflation) TRMTST g |
(f) What is Public debt?
FRBI 2ol PP A 9
TSI S 0T HdT & 8 ?
(9) What is called loanable fund?
A5 O FICF T 2
FORITY BN & s A6 ?
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(h) What is called ‘ bank’ ?
G FICE A 2
D B oAy T ?

GROUP-B
er-4
qie-9
Answer any one question 10x1 =10
@-FF G0 ATd Ted wie
G ThHdTT UTTEnd] IR a8y

2. Discuss the canons of taxation. 10
T4 T SNCEH T

o (d C
PRDT HIHE ™D Tl TN |

3. Discuss the functions of Commercial bank. 10
e MED Froels et w91
SIGRIRG TS H DI HRIEH ool J|~j5w\|

4. Discuss the various anti-inflationary measures. 10
arEife foEces [fen srafowfk sicEsa w1
faff=1 garemifa foREN Sures ==l T8y |

5. Give reasons for and against free trade. 10
SRl AfceTa AeF ¢ [elew I nie)
Ih ATIRSGT TeT 31 FaRIEdT BRUES (e |

GROUP-C
el

AE-T

Answer any one question 10x1 =10
@A-FH 976 eTad Ted wis
H1 U YTTdh! IR QI8
6. (&) What do you mean by ‘inflationary gap’ ? Explain with a suitable diagram.
SErEifen T [ ¢ Toige braw A= it 541
w IRTA WPl & B ? IUYeh YGeAD] Il JHDT AR
il

2067 2
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(b) What are the important causes of inflation?

uIfen wwes)d FRdef @9
HARDIABT PR BRUEH B-D B ?

7. (a) Distinguish between internal and international trade.
Sreredle € EE|fes Afarsd g 2N e F2)
AMIR® AR A IRINET ATARATS =TT IS |
(b) Give arguments for and against Progressive taxation.
25 oReT IR AT Gk [0 Ife maie |
@ Fxd! (Progressive taxation) FHIE I faREMT ddsw WA
il

8. (a) What is Speculative demand for money?

o FIFAEE T =L BifEw FISF 6T 9
a1 ‘ Speculative demand’ 9T & &1 ?

(b) How isthe demand for money related to the rate of interest?
o Tifve SR BIfERE 3 0 QAR T=F G5 F41
HEThT HAT TSl SR HAE] Fd © ?

(c) Inthis context explain the concept of liquidity trap.
@3 2B SIRCETE T Gel(G I T
T U] AREIdTh] UTAIDRT JERUIG] AR T8l |

X
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B.A. General Part-11 Examination, 2020
EcoNnoMmIcs

PAPER-VI
Time Allotted: 1 Hour Full Marks: 25

Thefiguresin the margin indicate full marks.

GROUP-A
eta-F

AE-B

1 Answer any five questions from the following: 1x5=5

-G 2Aipls el Ted nies
Gl Urac] geaesd] SR fAgeg—

(@) What is globalization?
P (globalization)-@3 wkes wis |
TATSATDHROT TP & BT ?

(b) What do you mean by Balance of Payment?
‘Balance of Payment’ 3l FTe(7« SIS I&100 I @RI 9
THH Fged A=Tel & s ?

(c) What is social security?
Social Security 3t A& fw=ivrel F 9
AEITS RET IdT & 7 ?

(d) What do you mean by ‘Bank rate’ ?
YT @6 FICF AT 9
‘red X (Bank rate) 9Tl & ST ?

(e) Mention two causes of industrial disputesin India
wieed it e 7io Fiwel Toae 391
ARTHT AT fAaredT ggdel HRIES Jarsdard |

(f) Mention two important features of money market in India.
SRICed SR A qio ({12 el T4
ARADI JaT IISIRGT gsacl & [aRvaes aarsde ™ |

(g) Mention two major achievements of economic planning in India.
oices ST wiffeame uib [Reaw Aiwey S 741
ARTHT ATAH AR Gsacl &I Iucheles JasIe |
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(h) What do you mean by fiscal policy?
Rrle it ToT0e 1 @R 9
farTr ify w=ar & =81 2

GROUP-B
er-4
THe-9
Answer any one question 10x1 =10

@A-F 9F5 2THa Ted wis
Gl Thac] UTTend! SR [ager

2. Discuss the features of Indian capital market. 10
SRCERGLCR R RSIREN DRI TIEE]
IRA Yol I9ReT faemyaress a=r T4a |

3. Discuss the broad objectives of the Five-Year Plansin India 10

SRACSA AR AT o Srref SEnal 741
IR g=aq AT fawgd Sevag el THe |

4. Explain the causes of Industrial disputesin India. 10
wliren Fis ReRieE Fireeie 1 F ol 39
IRAHT 3iEfie faesT eREs adf THaN |

5. Discuss the recent causes of the deficits of India’ s balance of payment. 10
S0 FTNMEA ORI qiolod Areifor FiReiafe i 4
ARADI B AJATD] TSR aH HROES oai el |

GROUP-C
el

AE-T

Answer any one question 10x1 =10
@-FF G0 Atd Ted wie
H1 U3 YTTdh! IR (I8
6. Discuss the quantitative and qualitative measures of credit control by RBI. 10
SRR ReTe I 24l @elae @ #{faieare 3 fFraer ToiremEg Ry 741

ARG Rod =ared (RBI) &1 9 PRSI /G AHAS 31 OIS
fafew®! e T9eN |

2068 2
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7. (a) Discussthe various social security measures adopted in India. 7+3=10
SRS (@ 7w AE Rivrel T 921 TR ©f HCEAbl T4
YRTAT AHITD YR Bl JUTIS® U0 TRUD! B, ARYT T8/ |
(b) Do you think that they are adequate?
off & W Tt @ Grafer o 9
& qUISATS A8 Al IURIEw T g ?

8. (a) Discussthe problems faced by small and cottage industries in India. 5+5 =10
OIS FY € FoId PR TP Sl 591
IRTHT 7Y T HER SUNTDN & S FAAES & a9l T4e 4 |
(b) Discuss the functions of Indian commercial banks.
SEWCERIBIEsRc R R RIS QIRIEET
AR ATTHNIS ATEDH] BRITH Iooid T80 |

2068 3
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B.A. General Part-111 Examination, 2020

EconoMicCs
PAPER-VII

DEVELOPMENT ECONOMICSAND STATISTICS

Time Allotted: 1 Hour 30 Minutes Full Marks: 50
The figures in the margin indicate full marks.

The word limit mentioned below against each question to be grictly followed by the students:
2 marks-30 words /2.5 marks-40 words/ 4 marks-60 words/ 5 marks-100 words /
6 marks-150 words/ 8 marks-220 words/ 10 marks-300 words.

DEVELOPMENT ECONOMICS
RERISERREI|

GROUP-A
e+
qHeg-d

1 Answer any two questions: 25%2=5

- 7f5 @i Ted nies
F1 geaCl UeAEwd! IR AN —

(@) What do you mean by disguised unemployment?
R (FFIg 0 & @RI
B RGN FTd & 3D ?

(b) What are tied and untied foreign aids?
i ¢ Y& [eell AR A Sl & ¢
FIAYH A qh [dal Heral & g ?

(c) What do you mean by social capital ?
ANIE e Feice 9 6 @il 9
AT Yol w=TTel @& g3re ?
(d) State two adverse effects of population growth on economic development in a
developing economy.
Teie] (ree] SLReF TR SR TRl Ik 7 FereR SrEd FA)
g1 faeraelicr sreferaverna! e faeraHd S der gfgdl gsacl Ulddhd

gIIew Seold el |
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(e) What is capital-intensive technique?
Y- TR Teofwed (i (technique) IeTCs (& (@I 9
UST-ger gfafd W & &1 ?
(f) What is economic planning?
sfeT ofisel & ¢
MY AT Wbl & B8l 2

(9) Who are the member countries of OPEC?
OPEC-49 %) (v (Flafe ¢
OPEC-%1 Ha®I Q¥E®H & & Bl ?

(h) What do you mean by dual economy?
e T¢I Tece i & @R 2
SN rfegaRe I & gD ?

GROUP-B
etal-2

qqe-9
Answer any one question 10x1 =10

@-(F G315 T Ted ne
Gl TICT YeIeHdl SR fAgelq

2. (a) Can per capitaincome be used as an index of economic development? Give your 6+4=10
arguments.

T TR TRE & wdafes T e @ I99F F91 AW 2 (ONR TerwE
FACF S Wi
& UlaaRh AR oNd [AdmMe! qadha! S TN T4 Alh8 ? 37Ul
GERACHENE

(b) Do you think that HDI is a better measure than the per capitaincome?
Off i N7 39 @ 91T TSR SN G HDI (N1 T 359 ) Sieifoss Snacaa
ICF OIS NG [ I 9

& AUIRATS e & AFg [9H™ gad (HDI) 9ft &fth 9=l SSdy SU™
a7

3. Discuss the advantages and disadvantages of foreign investment. 10
et RS AR ¢ PR T SeEn 54
Il e @ &1 gl e =@l e |

3100 2



B.A./Part-111/Gen./(1+1+1) System/ECOG-V11/2020

4.

7. (a)

(b)

8. (8

(b)

3100

Distinguish between economic growth and economic development. What are the
indicators of economic development?

e @aife ¢ o Tme Wi ofidw [t w1 widafes SEEeew
e e (indicators) &5 & ¢

anfefes Suwt o anfdies famranmsT ueidd T | fde e s qaass
T D B

Explain the concepts of HDI, GDI, GEM and HPI.
HDI, GDI, GEM @<k HPI @7 «igeilefer i<yl ea <@
HDI, GDI, GEM 31 HPI-AT gRITE® AaRAT T804 |

GROUP-C
el

AE-T

Answer any one question
@A-F 9F5 2Ta Ted wis
FH TH YDl IR B

Explain the two-way relation between population growth and economic
development.

TR JfEn @ FLATS SR TP 215 791 1yt 401
SEET gy Sif e fahraaTSIal geathl W ARAT e |

Write down the functions of IMF.
IMF-¢3 SIcda Reae wie )
JAMEUATH D] HRIEH oReJaly |

What are the major roles of the World Bank for economic development of
developing world?

Trgere (e for Ao TRACH IMF-93 I SRR Sl 341
famraeiia faeae snfdfe fawmramr favg fes! @ yHeEs & & g1 ?

Distinguish between balanced and unbalanced growth.

I % 8 SREIIE Jfad g+ e 79

AT AT AT IUSTEwATS U BN |

Explain critically the theory of balanced growth.

5 3w (balanced growth) STEa TG 57F i< F41
AT USR] NG AT S HUAT AR T84 |

4+6=10

10

10x1 =10

10

5+5=10

4+6=10
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ELEMENTARY STATISTICS
[ehelfiis offmcasie]
GROUP-A
Rett-5

AE-B

0. Answer any two questions:
- 7f5 @i Ted nies
F1 ggacl UeEwd! IR AN —
(@) Define Sample.
Sample T Y- IR WIS |
gfereel gR¥IYT T8N |
(b) Define primary data and secondary data.
2N 8 (e W kel e |
grIfie dedid MY Aeafiies qeiess gRWING TN |
(c) Define frequency density.
AR 999 (frequency density)-a3 IRl 7€ |
ST e g TfEr |
(d) Statetwo properties of A.M.
AM .-a7 ufb &Ry Srae 91
AR ATEIDh] Gsacl [aRdEs oo Tl |

(e) Show that: Zn:(xi -X)=0
i=1
@S (3 i()(I —X):O
i=1

R )4 ~7) =0

(f) Statetwo advantages of standard deviation (SD).
et #iefey (SD) «a ufo R Srae 41
A dae-a] g8dCT dMes Sceld T4a |

(g9 What do you mean by relative frequency?
oS “ifRe (Relative frequency) IeTCe & @RI 9
AMUeT JAGRT A=A & gfSre ?

(h) Find median for the following observations:
fermferiie afscara Sl (Median) e 791
ferefeiRad sraciih-eware #egwe] TWoaiy

35, 36, 68, 89, 37
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GROUP-B
er-4
TE-
Answer any one question 10x1 =10
@A-F GPIT T Ted wie
Pl TICT YeIeHdl SR fAgelq

10. What is frequency distribution? What are the various steps to construct 2+8=10
frequency distribution from unclassified data?
AR Feew (frequency distribution) JeTCe & @RI ¢ Sds ARy @&
F01% 35+ (frequency distribution) 0w FHCS (GICFT (@ (@ AioISTE AR OFF Srad
4|
gRT fIaRoT 9T & 81 ? Sraifiha dedisbdre 3Mgil faavor famior 7+ fafd=
TRUEH & D T ?

11. Calculate mean deviation about mean from the following data: 10
e aifreey (s oo @fas o 21 (MD about mean) e 4
feferRaa qedieere Ay wefad A g gk T

Class Interval: | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
I e
ol 3I=RTS:
Frequency: 4 12 16 22 10 8 6 4
AR
IR :

C

12. Calculate standard deviation (S.D) from the following data: 10
ffafae Aoy e emid #ie (S.D) fefa Fe
ffoRad deaieere A faee fReRor THer

Weight (kgs): | 40-49 | 50-59 | 60-69 | 70-79 | 80-89
g&es (kQ)

dret (f. 3m) :
No. of persons: 3 10 22 7 8
(TIPS IS
Rh =T

13. Describe the various methods of collecting primary data. 10
elfie w2 Maz FAR @ [fen *mmfe o [kaad wis|
Ui qeaid Hhed T A= falfEwdN sahd e |
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GROUP-C
el

qHe-T
Answer any one question 10x1 =10

@A-F GPIT T Ted wie
FH TH YDl IR B

14.(a) Draw both less than type and more than type ogives from the following data: 5+5=10

fAEfeiiie s @5-209 (less than type) @ I&-20® (more than type)
@A ARPRAT @ (ogive) SiF ¢

RfeiRad Teaidhare AT R AN W=l 8k §d' UBRDI ARG 3ifdhd THeRT :

Height (in cm) No. of boys
Teoel (GAf) AT TR
IAS (A M) | DeEED! G

120-124 12
125-129 25
130-134 28
135-139 15
140-144 12
145-149 8

(b) Graphically from this ogive determine median.
Tolrare SR (@ Sl e F9 $99% 9 (formula) I92 IR | @7 77 21
IR [ QI IR (v AT Sl @ AR e Nt @g [l
I ARvETE i AeRer fERer RN |

15.(a) Explain the concepts of 5+5=10
(i) line graph, (ii) bar chart, (iii) pie-chart and (iv) histogram.
(i) line graph, (ii) bar chart, (iii) pie-chart ¢ (iv) histogram 2oy «iReNTEN AN
4
(i) dfaa amerdl (i) ugl oRar (iii) UE-oi@r 31 (iv) SMdREd! URUITES
R T |
(b) Draw ahistogram to represent the following frequency distribution:
faEfefde st Jeied @@ Histogram =& 342
frefofaa MRy Raorars ufiffia T e smafs sifva THEN
Class Interval: | 500-510 | 510-520 | 520-530 | 530-540 | 540-550 | 550-560 | 560-570
A #fifys

Syofy
Frequency: 10 15 25 35 45 20 15

SRR OH
IR :

c
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16. Find A.M., Median and Mode of the following data:
fawiaiie ke aie, T ¢ wAeF I [ T
ferefeiRad Tedidhdre AR Hed, Hegwel 3ifY 9gcld Wiogaiy :

Class: 00-05 06-11 12-17 18-23 24-29
@re
2of}

Frequency: 06 10 15 13 06
AR
M -

c
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